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Ta=b=2 ¢c=4

. abc = 16




2. xof W AAA 3+ ma? +nx+ 1S x+ 12 YFH Y R]7E 50]4,
x— 28 UFA Urojdoj Aty gt} o] wf, —3(m + n) 9] 257

@ 4 @ 8 ® 12 (@)14 ® 18

B ~

f(x)=x>+mx? +nx+1
=(x+1)Q0(x)+5

flx)=x34+mx®+nx+1
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Sf(-1)=-1+m-n+1=5
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=
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2<x<20 &Fy=-x2+4x+k O HHFol 6 & o, H3=7k
29

O -14 @ -12 (Ei)—lo @ -8 ® -6

B

y=-x>+4x+k=—-(x-2)2+k+40|EZ

x=2% y o HAY2 k+4 °lt.

wEbA k+4 =6 oA k=2

2<x<29 y=-(x-2)2+62x=-2¢ 0 F=FS
48, 23:ghe 10 olck.




7. x+y+z=1Lxy+yz+zx=2xz=34 M, (x+1)(y+1)(z+1)
of ke Fatoler,
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> ®™e: 7

x+D+1(+1)
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8. x'+20? 4012 ASBSHHY

ONES

@ (x? = 3y?)?
® (2?4 xy + 3y?)(x? — xy + 3y?)
@) (2 + 209 + 3%)(® - 2y + 3?)
® (% + 2xy + 2y%) (2% = 2xy + 2)?)

(F4) = x* + 6x%y? + 9y* — 4x%y?
= (#* +3y%)% - (2xy)?
= (x% + 2xy + 3y*)(x* - 2xy + 3y?)




O|ZFR}E y = ¥ +ax+ 19 T Ze} A y = 3x - 80] ¥h}A
ste A% ol ol WS oo

@D -5<a<-1 @)-3<a<9 ® -l<a<4
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a=B+1DBF2+1)B*+1)(3%+1)--- (31024 L 1) 0]zt & uf FAl
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3511 a9] 2 A1) Ao el L+ m) ek
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@® 2046 @ 2047 ® 2048 @2049 ® 2050
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=(3+1)(3>+1)--- (3192 +1)
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=(3*-1) (3*+1)--- (31024 + 1)
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k=2, 1=2048, m = -1
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-30=2 = (x), HHAE R=F s Q(x) & A2l

B

0= (x-3)0(x) +R

x =32 HYsHH 330 =R

0(x) o] A% B8 (1)} gonz
x =1 Ygstd 1 = -20(1) + 3%°
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A(a, 0) B(8, 0) |22 5tA (. a <p)
a+p=-a

af =a B2

(. y=x*+ax+a)
B-a)?=(a+p)?—4ap =a*-4a
AB=pg-a =2V30|R2

a® —4a =12

(@a—6)(a+2)=0

La=-2,6




16. xo oh4 f(x) ol thoto] f(x2) = & f(x +1) - 2x* + 242 0] AT
, F(x) & TRFE? (B, £(0) = f(1) = £(2) = 0)

(1) F()% 2] Alolatat
ZHH :2n 2= n 4 32}
Lon=3
(i) f(x) =kx(x—1)(x - 2)(, k £ 0)
(2 £(0) = (1) = £(2) = 0)
P = kxS — 3kx? + 2kx?
S =k — (k+2)x* + 222
o kx® = 3kxt + 2kx? = kxS — (k + 2)x* + 2x2
~3k = —(k + 2)
k=201 k=1
S f(x) =x(x=1)(x-2)
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